
Supplies - Floor                                       :                                                              

Qty UM Desc

16 roll Toilet Paper

2 roll Paper Towels

1½ gal Coleman fuel

8 lb Charcoal

3.5 qt Gasoline, premix, stabilized,
use for long-term storage

0.2 qt Chain Lubricant

0 gal Gasoline, 50:1 mix

3 ea Coleman funnels

5 lb Rapid Set cement

3 ea Charcoal chimney

0 qt Charcoal Lighter Fluid 
(kerosene)

1 qt Kerosene (do not use in gas 
lanterns)

1 ea Rifle, B-B

2000 ea B-B's

Supplies - SW Shelves                           :

5 roll Tape: masking, alum, duct, 
elect, gorilla (in tray)

3 roll Survey tape

1 can WD-40

2 btl 3-in-1 Oil

1 btl Wood Glue

1 Roll Twist Tie

                                                            

Painting & Sprays - East Shelves         :

1 can Thompson water seal spray

1/2 can Flex Seal Spray

1 can Leak seal spray

2 can Wood Finish, Clear, Spray

1 can Spar Varnish

1 can Fluorescent Pink Enamel 
spray

1 can Fly & Mosquito Fogger

1 can Ant Killer

1 can Wasp spray

2 can Stove paint, black, high-
temp

1 tube Silicone Sealant

10 oz Acetone

41 oz Mineral Spirits

2 pt Foam sealant

1 can Contact Cement, Spray

4 can PVC Glue

1 can Goof Off

4 ea Paint Brush, 4"

8 ea Paint Spatulas, 1" to 5"

1 roll Rope, 3/8" x 20 ft braided 
polypropylene

Lumber        (rafters)                             :

6 ea 2x4 x 8 ft, Pine

1 Coil Rope, 1½"x20", Sisal

1

Updated 06/4/2022                                                Supplies                 Original                              :

2022 - Inv - Shed
Saturday, June 4, 2022

   Current Page 1    



                                                                            Gardening & Misc                                                    :

2

Misc Large Hardware Tray  (Cab)      :

20 ea Bumpers/Tabs

1 roll Steel Wire, 18 ga

1 roll Steel Wire, 20 ga

0 roll Parachute cord, Nylon

0 roll Nylon braided string

4 ft Velcro double-sided strap

2 ea Door latches

Miscellaneous (N & E Walls)               :

Qty UM Desc

1 system Solar Panel, Stand, VOM

2 kit Telescopes

10 Ft 24" Alum sheathing, smooth

2 ea 6" Stove pipe - 24" lengths

Supplies    (North Shelves)                     :

1 Coil Alum Sheeting, 12" wide

1 Kit Stove repair: gasket & cement

2 bag Water tank repair kit

1 bag Sink aerators and Brita filter

4 ea Shelf brackets, 12"

2 ea Shelf brackets, 8"

1 pkt Tarp kit

3 ea Yellow Jacket Traps

0 lb Bird seed

Gardening Supplies   (North Shelves)     :

1 ea Soil Test Kit

½ lb Osmocote Smart Release
14-14-14

1 lb Miracle Gro Fertilizer

1 lb Wildflower Seed mix

30 ft 1/2" main distribution tubing

13 ft 1/4" small distribution tubing

25 ft 1/4" Drip tubing

50 ft 1/4" Ooze tubing

1/4 box Garden staples

6 ft Deer Screening, 48"x50' x 1"

Gardening Tools   (Top of Cab)             :

2 ea Kneeling pad

1 pr Knee pads

1 Garden trowel

1 Garden mattock

Drip           (Top of Cab)                          :

1 kit Drip Fittings
gph emitters (20 ea)
1/4" T barbed 
1/4" connector barbed 
T, compression, 1/2"
Connector, comp., 1/2"
Back flow preventer, 3/4MIPTx 3/4FIPT
Reducer, 3/4MIPT x 1/2FIPT
½" valves, ¼" valves

   Current Page 2    



Misc Plumbing        (Cab)                    :

3 ea Water pressure and flow 
gauges

1 bag Shower fittings

1 tray Pipe clamps, large, 3/4 to 
1-1/2"

1 box Pipe clamps, medium, 9/16 to 
1-1/16"

1 bag Pipe clamps, small, 1/2"

1 bag Pipe holders, misc

0 tube Plumbing Goop (sealant)

1 Bag Hose Fittings
Washers & filters
Hose End Repair 1/2”.  (6)
Hose male to 3/4” Fpt    (3)
Hose male to 3/4” Mnt. (0)
Hose pressure regulator
Hose cap.                      (1)
She plug.                       (1)

1 Bag Valves
Ball, brass, 1/2”.            (2)
Ball, brass, 3/4”.            (2)
Ball, plastic, 1/2”.           (2)
Ball, plastic, 3/4”.           (1)
Gate, brass, 1/2”.          (1)

2 rolls Teflon plumbing tape

1 ea Union, brass, 3/4 x 3/4

Lag Screw Box   (Cab)     :

ea 1/2" lag, 3/4" head, 3/8" tap
5  7"

ea 3/8" lag, 9/16" head, 5/16 tap
2  7"
7  6"
1  5½"
4  5"
2  4½"
4  3"

ea 5/16" lag, 1/2" head, 1/4" tap
1  5"
4  6"

6 ea 1/2" flat washers

16 ea 3/8" flat washers

3 ea 7/16" flat washers

Pipe Fittings        (Cab)                        :

1 bag PVC, insert fittings, misc

1 bag PVC, pipe fittings & nipples

1 bag PVC slip fittings

1 bag Blue-Loc Fittings
Adapter,     3/4BL x 3/4 Fpt                (5 ea)
Adapter,     3/4BL x 3/4 Mpt              (1 ea)
Adapter,     3/4BL x 3/4 glue               (3 ea)
T,                 3/4BL x 3/4BL x 3/4BL     (0 ea)
T,                 3/4BL x  1/2Fpt x 3/4BL  (2 ea)
Ell,               3/4BL x 1/2Fpt                 (0 ea)
Ell,               3/4BL x 3/4BL                   (5 ea)
Coupling.   3/4.                                     (1 ea)
Release tool.                                         (1 ea)

1 Bag Blue-Loc Couplings
Coupling   , 3/4BL x 3/4BL                (13 ea)

1 ea Blu-Loc Removal tool

1 ea PVC Nipples, 1/2":  
10”, 12”, 18"

1 bag Galv fittings, 1/2”

1 bag Galv adapters, 3/4 to 1/2 to 
3/8

1 bag Galv fitting, 3/8”, 1/4”, 3/16”

1 Galv nipples 1/2": 
12", 10”, 6”

1 Galv nipples 3/4": 
9”

3

                                                                        Plumbing  Cabinet                                                       :

   Current Page 3    



                                                                               Hardware                                                                :

4

Upper Cabinet                                      :

1 template Hardware gauge

1 set Drill Bit Set, twist, 
1/16" to 1/2"

1 set Hex Bits & drills
Driver bits-

Twist drills-1/16 to 1/2-

Spade drills-3/8 to 1-

Pin vice-

1 ea DeWalt small parts box

4 ea Hacksaw blades - 12"

10 ea Utility knife blades

6 tray Nails:
Common,     4d 1.5"
Common,     6d 2"
Common,     8d 2.5"
Galv,             8d 2.5"
Double,        8d 2.5"
Common,   10d 3"
Common,   16d 3.5"
Galv,           16d 3.5"

2 tray Tapping Screws:
#8 x 
#10 x

1 tray Machine screws

1 tray Nuts & washers

1 tray Misc small hardware

Misc Small Hardware        (Cab)           :

6 ea Hook Screw Eye

4 ea Dowel, glueing, 3/8"

50 ea Cup Hooks

6 ea Safety Pins

8 ea Shelf clip supports

10 pair Cabinet hinges

6 ea Ceiling Hooks, 2"

3 ea Ceiling Hooks, 3"

Screws Tray        (Cab)                      :

1 lb #8 x1¼, Exterior

1 lb #8 x2½, Exterior

30 ea #8 x3, Deck

50 ea #10 x2, FH, Tap

50 ea #10 x2, FH, wood

1 lb #10 x3, deck

200 ea #6 x1-1/4", outdoor, square SS

100 ea #10 x 1-1/2" tapping, pan hd

10 ea #8 X 2" hex washer, roofing

15 ea #6 X 2" FH Deck

1 lb #10 X 3-1/2" Deck

1 tray Misc screws

70 ea 3/16" X 1-3/4" conc screws

1 box Hex nuts, 1/4-20

1 bag Large Flat Washers

1 bag 1/4" Flat washers

2 bag Misc washers and nuts

1 bag Misc machine screws

1 bag 8-32, Mach screws, Misc len

1 bag 1/4-20, mach screws, Misc

Nails Tray           (Cab)                       :

many Wire Nails:
  ga x 1/2"
  ga x 5/8"
  ga x 3/4"
18ga x 1"

many Nails: 
Galv box,      3d 1.25"
Roofing,        3d 
Common,     8d 2.5"
Galv,             8d 2.5"
Finish,          16d 3.5"

1/8 lb Staples, #5, 1/4"

3 lb Staples, Fence, 1.5"

   Current Page 4    



Power                                                      :

1 ea Makita Drill Motor

0 ea Battery, Makita, 9.6V

Tools  - SW Wall                                     :

8 ea Hammer

2 ea Pipe Wrench

2 ea Fence Tools

2 ea Drill Brace

1 ea Roofing Square

1 ea Tin Snips

1 ea Steel Brush, 6"

1 ea Bristle Brush

2 ea Pry bar, 18"

1 ea Pry bar, 5 ft

1 ea Axe sharpener

1 ea Sharpening stone

1 ea Staple gun + staples

3 ea Tape measures

1 ea Try Square

1 ea Level, 24"

1 ea Level, torpedo

1 ea File, cross cut, 12" + handle

1 ea PVC cutter

6 oz 3 in 1 Oil

4 oz Wood Glue

3 oz WD40

1 roll Twine, lite

3 ea Files, 12", Flat, fine & coarse

1 ea Channel-Lock Pliers, large

1 ea Pop Rivet Tool

ToolBox                                                :

4 ea Pliers (10", 8", 6", 6")

1 ea Pliers, long-nosed, 6"

1 ea Pliers, Channel Lock, 8"

1 ea Pliers, Adjustable, 12"

1 ea Pliers, Diagonal Cutter

1 ea Socket Wrench, 3/8"

5 ea Sockets: 3/8" drive -
9/16, 3/4, 13/16, 7/8, 1

9 ea Sockets: 1/4" drive -
3/16, 7/32, 1/4, 9/32, 5/16, 
3/8, 7/16, 1/2, 10mm

1 ea Socket, adapter, 3/8" to 1/4"

1 ea Socket, extender, 3/8 x3". 

8 ea Wrenches, misc sizes

1 ea Crescent Wrench - 6"

6 ea Screwdriver, Slotted - 4" to 
10"

6 ea Screwdriver, Philips -6" to 8"

1 ea Nut Driver, 5/16"

1 ea Socket driver 1/4"

ea Wood Chisel, 1"

1 set Allen Wrench set: 1/8 to 3/8

2 ea Utility knife

4 ea Drill Bit, brace, 
1/4, 5/16, 1/2

1 ea Drill bit, twist - 5/16" x 12"

1 ea Wood Rasp

2 ea Round files: 3/16", 1/4"

1 ea Ice Pick

                                                                                Small Tools                                                             :

5

                                                                                Large Tools                                                             :

   Current Page 5    



Chain Saw - Floor                                         :

1 ea Chain Saw, Echo CS-440es

1 ea Bar, Echo, 18AOAD3372, 18”, 
72 link, .325 pitch, .050 gauge

1 ea Chain, stamped "33", 3/16 
file, Oregon 33SL072G

1 ea Guard, Bar/Chain 

Chain Saw - Wall & Cabs                      :

1 ea Bar, Oregon pro-light, 
180GLGK041, 18”, 72 link, .325 
pitch, .050 gauge, Fits Oregon 
Chains type G72, H72, & M72

3 ea Chains, stamped "H72", "20", & 
“33” - 3/16 file, 33SL

3 ea Chain Sharpener, file, 3/16"

2 ea Bar Greaser

32 oz 2-cycle oil (40:1)

Chain Saw Bars to fit Echo CS-440 
(18”, .050 guage)

Echo 18” 18AOAD3372 or 20” 20AOAD3376
Oregon 180GLGK041, Pro-Lite
Oregon 180GDBK041, AdvanceCut
Oregon 180MLBK041, AdvanceCut

Chains to fit: 18”, .325 pitch, .050 gauge, 72Link (3/16 File)
Oregon chain 33SL072G, 33SL
Oregon chain H72, 20BPX072G ControlCut, low kick,
Oregon chain G72, 95VPPX072G, PowerCut, full chisel
Oregon chain M72, 95TXL072G, SpeedCut, full chisel

Tools - SE Floor & Wal                             :

3 ea Axe, double-bitted

1 ea Hatchet

2 ea Maul, 10 lb & 16 lb

1 ea Hammer, 3 lb

1 ea Sledge, 10lb

4 ea Splitting Wedge, 3 lb & 5 lb

3 ea Shovel

1 ea Rake

1 ea Leaf Rake

1 ea Scythe

1 ea Broom

1 ea Sledge handle

ea Axe handle - double bitted

1 ea Axe handle - single bitted

1 ea Sledge handle

Tools  - North and West Wall                    :

1 ea Ladder, Alum, 30 ft

1 ea Ladder, Alum, 6 ft

1 ea Ladder, wood, 8 ft

2 ea Pruning Shears

3 ea Saw, Hacksaw w/ blades

1 ea Saw, crosscut, 24"

1 ea Saw, bow, 12x24 in

Tools  - Outside                                       :

1 ea Wheelbarrow

4 ea Saw horse

1 ea Work Bench, folding

6

                                                                                Large Tools                                                             :

   Current Page 6    



Mattresses                                           :

1 ea 60x80, foam, 4-in

1 ea 60x80, memory foam, 3-in, 
white

1 ea 60x80, foam, 2", white

1 ea 39x76, foam, 4"

4 ea 30x80, foam, 4-in

4 ea 30x80, foam, 2-in

1 ea 30x80, foam, 1-in

4 ea 30x80, folded, foam, 2.5"

2 ea 30x80,  insulite, ½"

7

                                                                                Bedding                                                                  :

Deadman  (Alum Chest)                      :

8 ea Blankets

3 ea Sleeping bags, Single

2 ea Sleeping bags, double

13 ea Tarps

5 ea Pillows

Coleman Parts (N Wall)                      :

0 ea Generator, Coleman #502

0 ea Generator, Coleman #533

7 ea Lantern, Coleman, gasoline

40 ea Lantern Mantle, #21, gasoline 

3 ea Lantern Mantle, #95, propane 

3 ea Lantern Generator

2 ea Lantern fuel Cap

1 ea Coleman Pump Repair Kit

   Current Page 7    


